EAST POINT SCHOOL
CLASS-VII
ONLINE CLASSES WORK PLAN (JANUARY WEEK-4)

ENGLISH

REVISION (PT-3)

UNIT-4
SECTION-1

SOMETHING WONDERFUL HAPPENS WHEN YOU PLANT A SEED

Questions and Answers:-

Q-1) What were the two main achievements that got Wangari Mathai worldwide recognition?
Q-2) How did Wangari Mathai want to assist the earth?

Q-3) What was the major hurdle that Wangari Mathai faced on her way to achieving her
mission?

Q-4) What were the problems of the rural women in Kenya? How did Wangari Mathai arrive at
the solution?

Q-5) What are the chief uses of a tree, according to Wangari Mathai?

SECTION-2

FLAMES IN THE FOREST

BY RUSKIN BOND

Answer the following questions:-

1. The weather worsen the fire (1 M)
2. Romi was in a hurry to get back home because (A M)
3. What was the effect of the forest fire on different animals? (2 M)
4
5

. What kind of boy was Romi?(2 M)
Romi takes as a challenge the task of crossing the fiery forest though he has the chance
to stay back at his friend’s house. Do you think this was wise decision? Give reasons. (3
M)
6. What do you think started the forest fire? Why do you think so? (3M)
What brought Romi and Teju closer? (2M)

~

SECTION-3
POEM- THE RIVER




BY VALERIE BLOOM

Read the extract from the poem ‘The River’ by Valerie Bloom and answer the questions. (1
Marks)

1) Write down the title of the poem and the poet’s name.

2) In the first stanza the river is being described as a

a. Boy
b. Girl
c. Baby
d. Mother

3) The river is compared to a human being. This is called
a. Personification
b. Metaphor
c. Simile
d. Alliteration
4) Quote another example of personification from the poem.

5) ‘Gurgles’ is an example of
a. Simile
b. Onomatopoeia
c. Metaphor
d. Rhyme
6) To what is the river compared in the last stanza? How is it described? (2 Marks)
7) Why does the poet call the river, ‘a hoarder’? (2 Marks)
8) Explain why the river which is compared to a baby is later compared to a monster.
(3 Marks)

TENSES
1) She said that she.......cc.cceeeeueenneee help me.
a) will
b) shall
c) would

2) Phone me whenyou .........cccoeveeennennennns time.
a) have

b) would have

c) will have



3) 1 will follow you wherever you ............ccceeeeeeaunee.
a) go

b) goes

c) will go

4) YOU ..ccovvrrvreennnccnnnnnenns an accident if you go on driving like that.
a) are having

b) will have

c) would have

) R [P all my childhood in South India.
a) was spending

b) spend

c) spent

6) | tried a little of the soup to see how it .............ccoeeneeee
a) tastes

b) is tasting

c) tasted

7) Why do you live in France?
a) Present Perfect

b) Present Continuous

c) Present Simple

8) You are visiting EnglishClub.
a) Present Perfect

b) Present Continuous

c) Present Simple

9) Did Tara phone you yesterday?
a) Past Simple

b) Past Continuous

c) Past Perfect

10) Don’t make so much noise. Noriko .............. to study for her ESL test!
a) Try

b) Tries

c) Tried

d) Istrying
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MATHS

REVISION WORKSHEET (MATHS)

Q1.Find a number, such that one-fourth of the number is 3 more than 7.

Q2.Therectangular frame of a picture is 24.5 cm wide and 36.6 cm high .The border is 3.4 cm
wide.Calculate the perimeter of the picture.

Q3.The area of a square park is the same as that of a rectangular park.If the side of the square
park is 60 m and length of rectangular park is 90 m, Find the breadth of the rectangular park.

Q4.If two supplementary angles differ by 30°.Find the measure of each angle.
Q5.Find the value of p if the value of x* - 3x3- px -5 is equal to 23.
Q6.Solve the equations

(a) 1/3(2y-1)=3

(b) 3(3n—-1)=2n+5

Q7. A bicycle wheel has a diameter ( including the tyre ) of 70 cm.How many times would the
wheel rotate to cover a distance of 4.4 km?

Q8.A piece of a wire is bent in the shape of an equilateral triangle of side 4.4 cm. If the wire is
rebent into the shape of a circle, Find the radius and the area of the circle.

Q9.What rational number should be added to
-5/12 toget—-7/87?

Q10.Insert five rational numbers between
(a) -4 /9and-7/3
(b) -7and-9
Q11.Arrange the following rational numbers in ascending order:-3/7,-3/2,-3/4

Q12.Area of arectangle and the area of the circle are equal.If the dimensions of the rectangle
are 14 cm x 11 cm .Then find the radius of the circle?

Q13.If the base of a triangle is tripledand its height is doubled ,then what will be the area of
the triangle?

Q14. If the ratio of the radii of two circles is 4:3 then find the ratio of their areas ?

Q15.Draw the number line and represent the rational number 4 /7 onit.



SCIENCE

CHAPTER- 14 Electric Current and Its Effects

Electrical energy is the most useful form of energy as it can easily be converted into various
other forms of energy such as heat energy, light energy, mechanical energy and chemical
energy.

Electric current:

The flow of charges through a circuit is called electric current.

The SI unit of electric current is ampere and donated by A.

The direction of the electric current is conventionally from the positive terminal to the
negative terminal of a cell.

Electric circuit:

An electric circuit is a complete path for the flow of electric current.

A circuit consists of an electric celldevices which use the electrical energy, a switch and
connecting wires. These all are called components of the circuit or circuit elements.

If any part of a circuit is broken, electric current does not flow through it and such a circuit is
called an open circuit.

If there are no breaks in a circuit, it provides a closed for the flow of electric current and such a
circuit is called a closed circuit.

Electric current can flow only through closed circuit

Table of standard symbols component of circuit



S_No.| Electric component Symbol
= Electric cell
0\\7‘ _I.'_
= Electric builb
= Switch 1y "ON" position
Co/ T
————— -
<3 _ Switch 1 "OFF  postition
7= o
— - -
= Battery
.

Circuit diagram:

-

N\

o=

An electric ctrcutt

Heating effect of electric current:
When electric current is passed through a conductor, it produces heat in the conductor and this
effect is called the heating effect of electric current.

o Electric iron, immersion heaters, hot plates, geysers, electric kettles are some of the
electric appliances used, which work on the heating effect of the electric current.

« When the appliance is switched on, the element becomes red hot and give out heat.

o The amount of heat generated by a metal conductor (wire) depends on the strength of
electricity flowing through it, the type of metal and on the length and thickness of the
conductor.

What makes a bulb glow:

\SU NV
S £

- »
Crurcutt diagram of electric ctrcuit



A bulb glows due to the heating effect of electric current.
A bulb has a partial vacuum, argon gas and a thin filament of tungsten.
Tungsten metal has a very high resistance and very high melting point.
When an electric current pass through the filament, due to its high resistance, its heat up
quickly.
e The tungsten filament begins to glow and emits light.
Electric fuse:

o Afuse or an electric fuse is a safety device made of a material with low melting point. it
is used to protect the electric circuit and devices in the circuit from the excess current
passing through them.

Electric fuse works on the principle of the heating effect of electric current.

ASSIGNMENT

QL. The circuit is incomplete when the switch is  (1M)

a. ON
b. Closed
c. OFF
d. not attached
Q2. The factors on which the heating effect of current depends are(1M)
a. The Resistance of wire
b. The Magnitude of current passed through a given wire
c. Length of wire.
d. All of the above
Q3. Which wire is used to make electric iron?(1M)
a. Nichrome wire
b. Tungsten
c. Green wire.
d. Silver
Q4. The battery is a combination of(1M)
a. Two or more nichrome wire
b. Two or more cells
c. Electromagnets
d. electric switches
Q5.An electrical Fuse is a(1M)
a. Safety device
b. Mercury
c. Energy device
d. Tungsten
Q6. The Wire gets hot, when an electric current pass through it is known as the(1M)
a. Cooling effect
b. Magnetic effect of electric current
c. Heating effect of electric current
d. Resistance

Q7. What are the factors on which the heating effect of current depends?(2M)

Q8. Explain the working of an electric fuse?(3M)

Q9.An electrician is carrying out some repairs in your house. He wants to replace a fuse by a

piece of wire. Would you agree? Give reasons for your response.(3M)




ACTIVITY

1.Draw in your notebook the symbols to represent the following components of electrical
circuits: connecting wires, switch in the ‘OFF’ position, bulb, cell, switch in the ‘ON’
position, and battery

2. Take an electric cell, a bulb, a switch and connecting wires. Make an electric circuit . This
activity has to be done using only one cell. Keep the switch in the ‘OFF’ position. Does the
bulb glow? Touch the bulb. Now move the electric switch to the ‘ON’ position and let the
bulb glow for a minute or so. Again touch the bulb. Do you feel any difference? After
moving the switch back to the ‘OFF’ position, touch the bulb again.

SOCIAL STUDIES

URIgRI (U3 -6, 8,11)

Link-
https://youtu.be/ThfzBgOhDY,https://youtu.be/9g)VpJCGAXYhttps://youtu.be/HnUdzTPUrv
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SOCIAL SCIENCE - REVISION
GEOGRAPHY

CHAPTER-6 NATURAL VEGETATION AND WILD LIFE

v The growth of vegetation depends on Temperature and Moisture.
v Natural vegetation is generally classified into three broad categories: Forests, Grasslands
& Thorny Bushes.
1. Forests: A forest is a large area dominated by trees.



Types of Forests:

Tropical Tropical Temperate | Temperate | Mediterranean | Coniferous
Evergreen Deciduous Evergreen | Deciduous Vegetation Forests
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2. Grasslands: Grasslands are areas where the vegetation is dominated by grasses.

Types of Grasslands:
Tropical Grasslands Temperate Grasslands
» Located on either side of the equator and | » Found in the mid- latitudinal zones and in the
extend till the tropics interior part of the continents
» Grows in the areas of moderate to low » Grass here is short and nutritious

amount of rainfall

> Very tall grass (3 to 4 metres in height) » Animals: Wild Buffaloes, Bisons, Antilopes

» Animals: Elephants, Zebras, Giraffes, » Examples: Pampas of Argentina, Prairie of
Deer, Leopards North America, Veld of South Africa, Steppe
» Examples: Savannah grasslands of of Central Asia and Down of Australia
Africa, Campos of Brazil and Llanos of
Venezuela

3. Thorny Bushes: These are found in the dry desert like regions. Tropical deserts
are located on the Western margins of the continents. The vegetation cover is
scarce here because of scanty rain and scorching heat.

WORKSHEET

a) In which climatic conditions are citrus fruits cultivated?
b) Mention the uses of coniferous forest.
c¢) In which part of the world is seasonal grassland found?
d) Why are only citrus fruits cultivated in Mediterranean regions?
e) Differentiate between the following: -
i) Tropical Evergreen and Tropical Deciduous Forests




ii) Tropical Grasslands and Temperate Grasslands

2. Tick the correct answer.

(a) Mosses and Lichens are found in

(i) Desertic vegetation (if) Tropical vegetation
vegetation.

(b) Thorny bushes are found in

(i) Hot and humid tropical climate (ii) Hot and dry desertic climate
climate.

(c) In tropical evergreen forest, one of the common animals is

(i) Monkey (i) Giraffe

(d) One important variety of coniferous forest is

(i) Rosewood (i) Pine

(e) Steppe grassland is found in

(i) S. Africa (i) Australia
Question 3.

Match the following.

(i) Walrus (a) Soft wood tree

(if) Cedar (b) An animal of tropical deciduous forest
(iii) Olives (c) A polar animal

(iv) Elephants (d) Temperate grassland in Australia
(v) Campos (e) Thorny shrubs

(vi) Downs (f) A citrus fruit

(g) Tropical grassland of Brazil

Understanding Media

VIDEO LINK : - https://www.youtube.com/watch?v=qsjCPouDYAS8

Objectives

(iif) Tundra

(iii) Cold polar

(iii) Camel.
(iii) Teak.

(iif) Central Asia.

o understand the role of the media in facilitating interaction between the government and

citizens
e (Qain asense that government is accountable to its citizens
e understand the link between information and power

e gain a critical sense of the impact of media on people’s lives and choices

Introduction

o Media is everything that we see, hear, or read in our day-to-day lives, every programme you

see on TV to any event in your city.


https://www.youtube.com/watch?v=qsjCPouDYA8
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Media is the plural of "medium”, which means a way, and media, in the modern sense of the
word, means ways of communication.

Modern media such as TV, radio, newspaper, and the Internet reach millions of people all
over the world, so the common term used for them is mass media.

Media and Technology

Technology improves the reach and quality of media. And as technology improves, it also
brings about new forms of media, such as the Internet and Social Networking.

The technology used in TV and radio is called electronic media, while the one used in
newspaper and magazine is called press or print media.

Media and Money

Modern mass media needs expensive technology and experts.

Media companies make money from advertisements that are repeated to make people buy
different things and services.

This often becomes a challenge, because media companies might not report the truth about
themselves or their profitable clients.

Media and Democracy

In a democracy, it is through media that people come to know about how the government
works. And what people do often depend on the information provided by the media.
Sometimes the government stops the media from sharing some stories, for reasons right or
wrong, and this is known as censorship.

Setting Agenda

Because people think and behave according to what information comes from the

media, media companies, in choosing which news to share and which to avoid, set the
agenda for the nation.

To make more money or to have more power, the media often focuses on 'interesting'
stories that will attract more people, and it often report in a biased way.

It is important that all media be independent, and reports and stories in the media should be
balanced (they should cover all aspects of democratically useful stories).

WORKSHEET

Short Answer Questions

Name various forms of communication.

What does the word ‘media’ mean?

Mention any one positive aspect of television.

Mention one way in which the mass media earns money.

Why are some advertisements shown repeatedly on the television screen?
What do you mean by a balanced report?
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Why is it necessary for the media to be independent?
8. Why does media sometimes focus on a particular aspect of a story?

Long Answer Questions

9. In what ways does media play an important role in a democracy?

10. What are the various ways through which people express their dissatisfaction to any
of the government’s decision which does not go in their favour?

11. Most television channels and newspapers are part of big business houses. Why?

12.Choose the correct Answer: -

1. Which of the following are forms of media?
(a T.V.

(b) Radio

(c) Newspaper

(d) All of these

2. Which one of the following is print media?
(a) Newspaper

(b) T.V.

(c) Radio

(d) Television

3. Which has brought the world closer to us?
(a) Television

(b) Tape recorder

(c) Typewriter

(d) None of these

4. Which type of media offer a large variety of information to suit the taste of
different readers?

(a) Electronic media

(b) Print media

(c) Mass media

(d) All of these

5. Which is the main source of income of media?
(a) Advertisements

(b) Articles

(c) General news

(d) None of these



6. On which basis are the cost of advertisement set?
(a) Popularity of channel

(b) Popularity of product

(c) Both (a) and (b)

(d) None of these

7. Government control over the media is known as:
(a) Factdal

(b) Censorship

(c) Independence

(d) Emergency

13. True/False

i. The technology that mass media uses keeps changing.

ii. An independent media means that government should control and
influence its coverage of news.

iii. The print media offers a large variety of information to suit the
tastes of different readers.



